

## Certain New Oscillation criteria for Fourth Order Non – Linear Difference Equations

S. Nalini<sup>(1)</sup>, Dr. S. Mehar Banu<sup>(2)</sup>

1. Lecturer, Department of Mathematics, Narasu's Sarathy Institute of Technology, Salem – 636 305  
Tamilnadu

2. Asst. Professor, Department of Mathematics Govt. Arts college for women, Salem – 636008,  
Tamilnadu.

### Abstract

*In this paper deals with the oscillatory behaviour of fourth order non – linear difference equation of the form*

$$-\Delta^3(p_{n-1}\Delta u_{n-1}) + f_n u_n = 0, n \in N(1) \quad (1.1)$$

Where  $f_n = q_n - 3p_n - 3p_{n-1}$ .  $\Delta$  is the forward difference operator defined by  $\Delta u_n = u_{n+1} - u_n$ . By a solution of (1.1) is consider as  $\{u_n\}$  exist an  $N(a)$  for some  $a \in N$ . Examples are given to illustrate the importance of the results.

### 1. Introduction

Consider the non – linear difference equation

$$-\Delta^3(p_{n-1}\Delta u_{n-1}) + f_n u_n = 0, n \in N(1) \quad (1.1)$$

Where  $f_n = q_n - 3p_n - 3p_{n-1}$ .  $\Delta$  is the forward difference operator defined by  $\Delta u_n = u_{n+1} - u_n$ . By a solution of (1.1) is consider as  $\{u_n\}$  exist an  $N(a)$  for some  $a \in N$ . The function  $f$  satisfies the following conditions.

(H1):  $\{p_n\}, \{q_n\}$  are real positive sequences,  $q_n \neq 0$  for infinitely many values of  $n$ .

(H2):  $f : R \rightarrow R$  is continuous and  $xf(x) > 0$  for

$$\text{all } x \neq 0, f(x) \geq 0$$

$$(H3): \sum_{l=0}^{\infty} \frac{1}{p_l} < \infty$$

$$(H4): \sum_{l=0}^{\infty} \frac{1}{p_l} = \infty$$

Difference equations manifest themselves as mathematical models describing real life situations in probability theory, queuing problems, statistical problems, stochastic time series, combinatorial analysis, number theory, geometry, electrical networks, quanta in radiation, genetics in biology, economics, psychology, sociology, etc., unfortunately, these are only considered as the discrete analogs of differential equations. It is an indisputable fact that difference equations appeared much earlier than differential equations and were instrumental in paving the way for the development of the latter. It is only recently that difference equations have started receiving the attention they deserve. Perhaps this is largely due to the advent of computers, where differential equations are solved by using their approximate difference equation formulations. The theory of difference equations has grown at an accelerated pace in the past decade. It now occupies a central position in applicable analysis and will no doubt continue to play an important role in mathematics as a whole.

In this study we compared to second and higher order difference equations, the study of third and fourth order difference equations has received less attention. Some fourth order difference equations can be found in [1] to [10]. However, it seems there is very very less known regarding the oscillation of equation (1.1). It is an extended version of [11]. Our aim of in this paper is to present some oscillation criteria for equation (1.1).

### 2. Main results:

#### Theorem 2.1 :

If  $\{u_n\}$  is a oscillatory solution of equation (1.1) for  $n \geq n_1$ , then there exists a  $n_2 \geq n_1$  such that  $\Delta^2(p_{n-1}\Delta u_{n-1}) > 0$ .

**Proof :**

Let  $\{u_n\}$  be a non – oscillatory solution of equation (1.1) without loss of generality we may assume that  $u_n > 0$ , for  $n \geq n_1, n_2 \geq n_1$ .

From (1.1) we have  $\Delta^3(p_{n-1}\Delta u_{n-1}) \leq 0$  for all  $n \in N(1)$ . We have to prove that  $\Delta^2(p_{n-1}\Delta u_{n-1}) > 0$ .

Assume that contrary  $\Delta^2(p_{n-1}\Delta u_{n-1}) \leq 0$  for  $n \geq n_2$  and  $n_2 \geq n_1 + 1$ . Since  $\Delta^2(p_{n-1}\Delta u_{n-1})$  is decreasing such that  $\Delta^2(p_{n-1}\Delta u_{n-1}) \leq C$  for  $n \geq n_3$ . Summing the last inequality from  $n_3 + 1$  to  $n$  we get

$$\Delta(p_{n-1}\Delta u_{n-1}) \leq \Delta(p_{n_3+1}\Delta u_{n_3+1}) + C(n - n_3 - 1)$$

Letting  $n \rightarrow \infty$  then  $\Delta(p_{n-1}\Delta u_{n-1}) \rightarrow -\infty$  then there is an integer  $n_4 \geq n_3 + 1$  such that  $n \geq n_4$ ,  $\Delta(p_{n-1}\Delta u_{n-1}) \leq \Delta(p_{n_4}\Delta u_{n_4}) < 0$

Summing the last inequality from  $n_4 + 1$  to  $n$  we get  $p_{n-1}\Delta u_{n-1} \leq p_{n_4+1}\Delta u_{n_4+1} + C(n - n_4 - 1)$ .

Letting  $n \rightarrow \infty$  then  $p_{n-1}\Delta u_{n-1} \rightarrow -\infty$  thus there is an integer  $n_5 \geq n_4 + 1$  such that for  $n \geq n_5$   $p_{n-1}\Delta u_{n-1} \leq p_{n_5}\Delta u_{n_5} < -C$  which implies that  $\Delta u_{n-1} \leq \frac{-C}{p_{n-1}}$ . Summing this inequality from  $n_5 + 1$  to  $n$

we get  $u_{n-1} \leq u_{n_5+1} - C \sum_{t=n_5+1}^n \frac{1}{p_{t-1}}$ .

Let  $n \rightarrow \infty$  then  $u_{n-1} \rightarrow -\infty$ , this is contradiction. Therefore  $\Delta^2(p_{n-1}\Delta u_{n-1}) > 0$ .

**Theorem 2.2 :**

Assume that the difference equation (1.1) holds the condition (H1) to (H4) and there exist a positive sequence  $\{u_n\}_{n=n_0}^\infty$  such that

$$\limsup_{n \rightarrow \infty} \sum_{\gamma=n_2+1}^n \left( \frac{b_\gamma}{p_\gamma \Delta u_\gamma} f_\gamma u_\gamma + \frac{\Delta b_\gamma}{4b_\gamma(\gamma - n_1)} \right) = \infty \tag{2.1}$$

Then every solution  $\{u_n\}$  of equation (1.1) is oscillatory.

**Proof :**

Let  $\{u_n\}$  be a non – oscillatory solution of equation (1.1) without loss of generality, we may assume that

$u_n > 0$ . From lemma (2.1) it follows that  $y_n > 0, p_{n-1}\Delta u_{n-1} > 0, \Delta(p_{n-1}\Delta u_{n-1})$  and  $\Delta^2(p_{n-1}\Delta u_{n-1}) > 0$  for  $n \geq n_1, n_2 \geq n_1$ . we define,

$$v_n = \left( \frac{b_n}{p_n \Delta u_n} \right) \Delta^2(p_{n-1}\Delta u_{n-1}) \tag{2.2}$$

$$\Delta v_n = \Delta^2(p_n \Delta u_n) \Delta \left( \frac{b_n}{p_n \Delta u_n} \right) + \frac{b_n}{p_n \Delta u_n} \Delta^3(p_{n-1}\Delta u_{n-1})$$

$$= \Delta^2(p_n \Delta u_n) \left[ \frac{p_n \Delta u_n \Delta b_n - b_n \Delta(p_n \Delta u_n)}{p_n \Delta u_n p_{n+1} \Delta u_{n+1}} \right] + \frac{b_n}{p_n \Delta u_n} \Delta^3(p_{n-1}\Delta u_{n-1}) = \frac{\Delta b_n}{b_{n+1}} \left( \frac{b_{n+1} \Delta^2(p_n \Delta u_n)}{p_{n+1} \Delta u_{n+1}} \right) - \frac{\Delta^2(p_n \Delta u_n) b_n \Delta(p_n \Delta u_n)}{p_n \Delta u_n p_{n+1} \Delta u_{n+1}} + \frac{b_n}{p_n \Delta u_n} \Delta^3(p_{n-1}\Delta u_{n-1}) \tag{2.3}$$

Since from the inequality we have

$$p_{n+1} \Delta u_{n+1} \geq p_n \Delta u_n$$

From equation (2.3)

$$\Delta v_n \leq \frac{\Delta b_n}{b_{n+1}} v_{n+1} - \frac{b_n \Delta^2(p_n \Delta u_n) \Delta(p_n \Delta u_n)}{p_n \Delta u_n p_{n+1} \Delta u_{n+1}} + \frac{b_n}{p_n \Delta u_n} \Delta^3(p_{n-1}\Delta u_{n-1}) \tag{2.4}$$

Consider,

$$\sum_{t=n_1+1}^n \Delta^2(p_{t-1}\Delta u_{t-1}) = \Delta(p_{n-1}\Delta u_{n-1}) - (a_{n_1+1}\Delta u_{n_1+1}).$$

$$\Delta(p_{n-1}\Delta u_{n-1}) = a_{n_1+1}\Delta u_{n_1+1} + \sum_{t=n_1+1}^n \Delta^2(p_{t-1}\Delta u_{t-1}) \geq$$

$$(n - n_1 - 1)\Delta^2(p_{n-1}\Delta u_{n-1}) \text{ For } n \in n + 1 \Rightarrow \Delta(p_n \Delta u_n) \geq (n - n_1)\Delta^2(p_n \Delta u_n)$$

Therefore

$$\Delta v_n \leq \frac{\Delta b_n}{b_{n+1}} v_{n+1} - \frac{b_n(n-n_1)(\Delta^2(p_n \Delta u_n))^2}{p_n \Delta u_n p_{n+1} \Delta u_{n+1}} + \frac{b_n}{p_n \Delta u_n} \Delta^3(p_{n-1}\Delta u_{n-1}) \tag{2.5}$$

$$p_n \Delta u_n \geq (n - n_1)^2 \Delta^2(p_n \Delta u_n)$$

$$\Delta v_n \leq \frac{\Delta b_n}{b_{n+1}} v_{n+1} - \frac{b_n(n-n_1)}{b_{n+1}^2} v_{n+1}^2 + \frac{b_n}{p_n \Delta u_n} f_n u_n$$

Then we have  $\Delta v_n \leq \frac{b_n}{p_n \Delta u_n} f_n u_n + \frac{(\Delta b_n)^2}{4b_n(n-n_1)} - \left[ \frac{s}{b_{n+1}} - \frac{\Delta b_n}{2s} \right]^2$  where  $s = (b_n(n-n_1))^{\frac{1}{2}}$

$$\Delta v_n < \frac{b_n}{p_n \Delta u_n} f_n u_n + \frac{(\Delta b_n)^2}{4b_n(n-n_1)}$$

Summing this inequality from  $n_2 + 1$  to  $n$ .

We get  $v_n \leq v_{n_2} + \sum_{\gamma=n_2+1}^n \left( \frac{b_\gamma}{p_\gamma \Delta u_\gamma} f_\gamma u_\gamma + \frac{\Delta b_\gamma}{4b_\gamma(\gamma-n_1)} \right) \sum_{\gamma=n_2+1}^n \left( \frac{b_\gamma}{p_\gamma \Delta u_\gamma} f_\gamma u_\gamma + \frac{\Delta b_\gamma}{4b_\gamma(\gamma-n_1)} \right)$  (2.6)

This is contradiction. Hence it is complete the proof.

**Corollary :** Assume that the difference equation (1.1) holds the condition of theorem 2.2 except the condition 2.1 is replaced by

$$\limsup_{n \rightarrow \infty} \sum_{\beta=n_1+1}^n \left( \frac{\delta_\beta}{p_\beta \Delta u_\beta} (q_\beta - 3p_\beta - 3p_{\beta-1}) u_\beta + \frac{(\beta+1)^\lambda - \beta^\lambda}{4\delta_\beta(\beta-n_0)} \right) = \infty$$

Then every solution of(1.1) is Oscillatory.

Here we apply the double sequence  $S_{n,m}$  in the difference equation (1.1)

**Definition:**

Let  $S_{n,m}$  be a double sequence of real numbers.  
 $\lim_{n,m \rightarrow \infty} S_{n,m} = \infty$  if for every  $\alpha \in \mathbb{R}$ , there exist  $K = K(\alpha) \in \mathbb{N}$  such that if  $n, m \geq K$  then  $S_{n,m} > \alpha$   
 $\lim_{n,m \rightarrow \infty} S_{n,m} = -\infty$  if for every  $\beta \in \mathbb{R}$ , there exist  $K = K(\beta) \in \mathbb{N}$  such that if  $n, m \geq K$  then  $S_{n,m} < \beta$

**Theorem 2.3 :**

Assume that (H1) to (H4) holds and let  $\{b_n\}$  be a positive sequence and assume that there exist a double sequence  $\{S_{n,m}; n \geq m \geq 0\}$  such that  
 $S_{n,m} > 0$  for  $n > m > 0$   
 $\lim_{n \rightarrow \infty} S_{n,m} = 0$   
 $S_{m,m} = 0$  for  $m \geq 0$   
 $L_2 S_{n,m} = S_{n,m+1} - S_{n,m}$   
 Where  $L_2 S_{n,m} = S_{n,m+1} - S_{n,m}$

If  $\limsup_{n \rightarrow \infty} \frac{1}{S_{n,0}} \sum_{m=0}^{n-1} \left[ S_{n,m} \frac{b_n}{p_n \Delta u_n} f_n u_n - \frac{b_{n+1}^2}{b_n} \left( S_{n,m} - \frac{\Delta b_n}{b_{n+1}} \sqrt{S_{n,m}} \right)^2 \right] = \infty$  (2.7)

Then every solution of equation(1.1) is oscillatory

**Proof :**

Let  $\{u_n\}$  be a non - oscillatory solution of equation (1.1), which may assume to be eventually positive. From equation (2.2) & (2.3) we define the sequence  $v_n$  as follows

$$\Delta v_n \leq \frac{\Delta b_n}{b_{n+1}} v_{n+1} - \frac{b_n(n-n_1)}{b_{n+1}^2} v_{n+1}^2 + \frac{b_n}{p_n \Delta u_n} f_n u_n - \frac{b_n}{p_n \Delta u_n} f_n u_n \geq \Delta v_n - \frac{\Delta b_n}{b_{n+1}} v_{n+1} + \frac{b_n(n-n_1)}{b_{n+1}^2} v_{n+1}^2$$

$$\sum_{m=n_2}^{n-1} S_{n,m} \frac{b_n}{p_n \Delta u_n} f_n u_n \geq \sum_{m=n_2}^{n-1} S_{n,m} \Delta v_n + \sum_{m=n_2}^{n-1} S_{n,m} \frac{b_n(n-n_1)}{b_{n+1}^2} v_{n+1}^2 - \sum_{m=n_2}^{n-1} S_{n,m} \frac{\Delta b_n}{b_{n+1}} v_{n+1} \quad (2.8)$$

This yields after summing by parts

$$\sum_{m=n_2}^{n-1} S_{n,m} \frac{b_n}{p_n \Delta u_n} f_n u_n \geq S_{n,n_2} v_{n_2} + \sum_{m=n_2}^{n-1} v_{n+1} L_2 S_{n,m} + \sum_{m=n_2}^{n-1} S_{n,m} \frac{b_n(n-n_1)}{b_{n+1}^2} v_{n+1}^2 - \sum_{m=n_2}^{n-1} S_{n,m} \frac{\Delta b_n}{b_{n+1}} v_{n+1}$$

$$\begin{aligned}
 &= S_{n,n_2} v_{n_2} - \sum_{m=n_2}^{n-1} \frac{\sqrt{S_{n,m} b_n (n-n_1)}}{b_{n+1}} v_{n+1} \\
 &+ \frac{b_{n+1}}{2\sqrt{S_{n,m} b_n (n-n_1)}} \left[ s_{n,m} \sqrt{S_{n,m}} - \frac{\Delta b_n}{b_{n+1}} S_{n,m} \right]^2 \\
 &+ \frac{1}{4} \sum_{m=n_2}^{n-1} \frac{b_{n+1}^2}{b_n} \left( s_{n,m} - \frac{\Delta b_n}{b_{n+1}} \sqrt{S_{n,m}} \right)^2 \\
 &\frac{1}{4} \sum_{m=n_2}^{n-1} \frac{b_{n+1}^2}{b_n} \left( S_{n,m} - \frac{\Delta b_n}{b_{n+1}} \sqrt{S_{n,m}} \right)^2 \sum_{m=n_2}^{n-1} \left[ S_{n,m} \frac{b_n}{p_n \Delta u_n} f_n u_n - \frac{b_{n+1}^2}{b_n} \left( s_{n,m} - \frac{\Delta b_n}{b_{n+1}} \sqrt{S_{n,m}} \right)^2 \right] > S_{n,n_2} v_{n_2} \\
 &\frac{1}{4} \sum_{m=n_2}^{n-1} \frac{b_{n+1}^2}{b_n} \left( S_{n,m} - \frac{\Delta b_n}{b_{n+1}} \sqrt{S_{n,m}} \right)^2 \sum_{m=n_2}^{n-1} \left[ S_{n,m} \frac{b_n}{p_n \Delta u_n} f_n u_n - \frac{b_{n+1}^2}{b_n} \left( s_{n,m} - \frac{\Delta b_n}{b_{n+1}} \sqrt{S_{n,m}} \right)^2 \right] > S_{n,0} \left( v_{n_2} + \sum_{m=0}^{n-1} \frac{b_n}{p_n \Delta u_n} f_n u_n \right) \\
 &\limsup_{n \rightarrow \infty} \frac{1}{S_{n,0}} \sum_{m=0}^{n-1} \left[ S_{n,m} \frac{b_n}{p_n \Delta u_n} f_n u_n - \frac{b_{n+1}^2}{b_n} \left( s_{n,m} - \frac{\Delta b_n}{b_{n+1}} \sqrt{S_{n,m}} \right)^2 \right] > \infty \tag{2.9}
 \end{aligned}$$

Which clearly contradicts (2.7).

**Remarks :**

By choosing the sequence  $\{S_{n,m}\}$  in appropriate manners, we can derive several oscillation criteria for(1.1).

Let us consider the double sequence  $\{S_{n,m}\}$  defined by

$$\begin{aligned}
 S_{n,m} &= (n-m)^\lambda, \lambda \geq 1, n \geq m \geq 0 \\
 S_{n,m} &= (n-m)^\lambda, \lambda > 2, n \geq m \geq 0 \\
 \text{where } (n-m)^\lambda &= (n-m)(n-m+1) \dots (n-m+\lambda-1)
 \end{aligned}$$

**Corollary:** Assume that all the assumptions of Theorem 2.3 hold except that condition (2.7) is replaced by

$$\begin{aligned}
 &\limsup_{n \rightarrow \infty} \frac{1}{\log(n+1)^\lambda} \sum_{m=0}^{n-1} \left[ \log \left( \frac{n+1}{m+1} \right)^\lambda \frac{b_n}{p_n \Delta u_n} f_n u_n - \frac{b_{n+1}^2}{b_n} \left( \log \left( \frac{n+1}{m+1} \right)^\lambda - \frac{\Delta b_n}{b_{n+1}} \log \left( \frac{n+1}{m+1} \right)^{\frac{\lambda}{2}} \right)^2 \right] \\
 &= \infty
 \end{aligned}$$

Then every solution of equation (1.1) is oscillatory.

**Example : 1**

Consider the difference equation

$$\Delta^3((n-1)\Delta u_{n-1}) - 4(3n+1)u_n = 0$$

Satisfies all the condition of Theorem 2.2 & 2.3 for  $S_{n,m} = n+m$  &  $S_{n,m} = \frac{1}{\sqrt{n+m}}$ . Hence all the solution of equation (1.1) are oscillatory.

**3. References**

[1] Ravi P. Agarwal, Difference equation sandinequalities, volume 228 of Monographs and Textbooks in Pure and Applied Mathematics, Marcel Dekker Inc., New York, second edition, 2000. Theory, methods, and applications.

[2] Ch. G. Philos, On the existence of nonoscillatory solutions tending to zero at  $\infty$  for differential equations with positive delays, Arch.Math.(Basel), 36(2):168-178, 1981.

[3] J. Popenda and E. Schmeidel, On the solutions of fourth order difference equations, RockyMountainJ.Math., 25(4):1485-1499, 1995.

[4] B. Smith and W.E. Taylor, Jr., Oscillatory and asymptotic behavior of certain fourth order difference equations, RockyMountainJ.Math., 16(2):403-406, 1986.

[5] W.E. Taylor, Jr., Fourth order difference equations: oscillation and nonoscillation, RockyMountainJ.Math., 23(2):781-795, 1993.

[6] E. Thandapani and I.M. Arockiasamy, Fourth-order nonlinear oscillations of difference equations, Comput.Math.Appl., 42(3-5):357-368, 2001. Advances in dif-ference equations, III.

[7] B.Selvaraj and I.Mohammed ali jaffer : Oscillation Behavior of Certain Third order Linear Difference Equations-Far East Journal of Mathematical Sciences, Volume 40, Number 2, 2010, pp 169-178.

[8] B.Selvaraj and I.Mohammed ali jaffer : Oscillatory Properties of Fourth Order Neutral Delay Difference Equations-Journal of Computer and Mathematical Sciences-An International Research Journal, Vol. 1(3), 364-373(2010).

[9] B.Selvaraj and I.Mohammed ali jaffer : Oscillation Behavior of Certain Third order Non-linear Difference

Equations-International Journal of Nonlinear Science(Accepted on September 6, 2010).

[10] B.Selvaraj and I.Mohammed ali jaffer : Oscillation Theorems of Solutions For Certain Third Order Functional Difference Equations With Delay-Bulletin of Pure and Applied Sciences.

[11] S. Nalini,S. MeharBanu: Certain oscillation criteria for second order difference equation –International journal of systemic,cybernetics & informatics, June 2011.